
MODELED

 

JSHAW

DRAWN

 

jhamaker

DTAC- HEAVY EQUIPMENT HEAT/COOL SYSTEMS

8/4/2011

DWG NAME

315-SB Drawings.idw

SIZE

B

SHEET 1  OF 4 

315-SB FOOTPRINT AND MOUNTING INFORMATION

TITLE

315-SB FOOTPRINT AND MOUNTING INFORMATION

NOTE: ALL UNITS IN INCHES

38.3

35.2

1.24

3.18

5.18

9.18

11.2

4.80

5.44

13.1

1.56

Mounting Hole Spacing
37.2

Mounting Specifications

Quantity Description

4 5/16-18x1-1/2 HEX CAP

4 5/16 WHIZ NUT

8 1/2" DIA HOLE- NO THREADS

14.81

0.38

1.01

1.29

3.73

2.55



MODELED

 

JSHAW

DRAWN

 

jhamaker

DTAC- HEAVY EQUIPMENT HEAT/COOL SYSTEMS

8/4/2011

DWG NAME

315-SB Drawings.idw

SIZE

B

SHEET 2  OF 4 

315-SB FEATURE SPECIFICATIONS

TITLE

315-SB FEATURE SPECIFICATIONS

NOTE: ALL UNITS IN INCHES

Wire Harness Outlet

Refrigerant Line Out

Refrigerant Line In

Rotary Fan Speed Switch

Rotary Thermostat Knob

3.5" Louver x 6

Drain Tube

Drain Tube

Removable Air Filters

Filter Clip x 4

5/16" Dia Mounting Bolt x 4

3" Fresh Air Intake



Parts Breakdown

NOTEDESCRIPTIONDTAC NO.QTYITEM

 3-1/2" Louver02-1606161

 Knob03-0016522

 Rotary 3-Speed Switch03-1300613

 Rotary Thermostat03-1400214

 Block Expansion Valve04-1500415

 Cool Only Evap Coil07-0031616

 One Inch Grommet09-0062117

 #8 O-Ring09-0401248

1Drain Hose, 1/2"10-2001212 ft9

13" Duct Hose10-200271 ft10

 1/4-20 X 3/8 Bolt12-000031211

 5/16-18 - 1.5 Bolt12-00023412

 1/4 Flat Washer12-00044213

1Insulation 1/4 X 1 1/212-0005232 in14

 Whz Nut 5/16-1812-00054615

 #8X3/4 Tap Screw 12-00056916

 Standard Switch Nut12-00059617

1Kazoo Drain Restrictor12-00123218

1Wire Harness12-00315119

1SB Wire Harness12-00315CB120

11/2" Plastic Drain Tee12-01874121

11/2" Plastic Drain Elbow12-01875222

 1/2" Button Plug12-02643223

 1" Button Plug12-02783 124

 Faceplate12-50419125

 12V Blower Assembly or

24V Blower Assebmly

30-51580 or 

30-51581

226

 Filter 31531-50000127

 SB Housing31-50019128

 SB Lid31-50020129

 Filter 50050-00005130

 Expansion Valve Mnt Brkt50-50500131

 Part not shownNote 1

--

MODELED

 

JSHAW

DRAWN

 

jhamaker

DTAC- HEAVY EQUIPMENT HEAT/COOL SYSTEMS

8/4/2011

DWG NAME

315-SB Drawings.idw

SIZE

B

SHEET 3  OF 4 

315-SB PARTS BREAKDOWN AND UNIT SPECIFICATIONS

TITLE

315-SB PARTS BREAKDOWN AND UNIT SPECIFICATIONS

NOTE: ALL UNITS IN INCHES

UNIT SPECIFICATIONS

BTU'S COOL BTU'S HEAT AIR FLOW WEIGHT MOTOR CURRENT DRAW DTAC NO.

35,000 -

410 CFM 48 LBS 2-12V

24 AMPS @ 13.6 VDC

315-12SB

" " " "

2-24V

14 AMPS @ 27 VDC

315-24SB

27

28

26

12

29

6

11

1

15

24

23

30

13

5

3

7

4

2

25

31



SIZE

B

SHEET 4  OF 4 


